
Question #1

Estimate the linear feet of ridge vent needed for this house.  
Do not include overhangs?

a. 54’ - 56’

b. 66’ - 68’

c. 70’ - 72’ 

d. 77’ - 79’
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Answer:  22’ + 34’ + 16’- 6 ½” = 72’ - 6 ½”, with the hold back: 70’ - 72’
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Logic:
1. Look at the main floor plan, find the dashed ridge line in the center 

of the garage, this ridge is the same length as the garage at 22’.

2. Next look at the second floor plan, find the dashed ridge line in the 
center of the house, this ridge is the same length as the second 
floor at 34’. 

3. Now look at the second floor plan, find the dashed ridge line at the 
center of the front porch, the exact dimension is not given, so we 
will estimate it at:

a. Porch width: 6’
b. Corner of house to chimney: 4’ 6 ½”
c. Chimney width: 6’
d. Total porch ridge: 6’+ 4’- 6 ½” + 6’ = 16’ 6 ½” 

The ridge vent on the porch needs to held back from where the porch 
ridge meet the main roof.

Answer:  22’ + 34’ + 16’ 6 ½” = 72’ 6 ½”, with the hold back 70’ to 72’

Question #1



Question #2

How many cubic yards of concrete will it take to pour the 
garage floor slab?

a. 158 - 160

b. 151 - 153

c. 5.5 – 5.7 

d. 5.9 - 6.1
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Logic:

1. Look at the foundation plan, find the interior dimensions of the 
garage under the word GARAGE, they are 21’ 4” by 22’ 8”

2. Now look at the foundation plan, to find the thickness of the 
concrete from the note in the garage which calls for a 4” slab?

Math: 

All units of measurement need to be converted to feet so that all of 
the math is calculated in the same units.

4” ÷ 12 = .33’ 8” ÷ 12 = .666’ rounded up to .67’

Answer:

21.33’ x 22.67’ x .33’ = 159.57 cubic feet.

To convert cubic feet to cubic yards, divide by 27

159.57 ÷ 27 = 5.91 cubic yards.

5.91 cubic yards

Question #2



Question #3

How many linear feet of 2” x 8” floor joist is needed to 
construct the second floor covered porch floor?

a. 97 - 103

b. 90 - 93

c. 94 – 96 

d. 122 - 124

A 9



10



11

Logic:
1. Look at the second floor plan, find the dimensions of the porch, the 

porch is 20’ 3” (243”) by 6’.

2. Next look at the second floor plan, in the porch area, find the note 
that calls for 2”x 8” joists 16” O.C.

Math: 
3. Length of each joist:  6’

4. Number of joists:  243” ÷ 16 =  15.19 spaces, round up to 16 spaces.   
Add 1 from spaces to get number of joists:  16 + 1 = 17 joists

5. Lineal  feet of joist material:   17 x 6’ = 102’ 

Question #3



Question #4

What is between the siding and the wall sheathing?

a. 15 # felt paper overlapped 2”

b. House wrap (Tyvek - all joists taped)

c. Nothing

d. Rosin paper

Answer:

Look at sheet 16, find the note that calls out House wrap 
(Tyvek – joints taped)
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Question #5

How many cubic yards of concrete is needed to pour the 
concrete portion of the driveway?

a. 149 - 151

b. 224 - 226

C  14

Logic:

1. Look at the site plan, find the dimensions of the concrete portion 
of the driveway, they are 25’ by 18’. 

2. Now look at the site plan, to find the thickness of the concrete 
from the note by the driveway which calls for a 6” slab (0.5’)?

Answer:

25’ x 18’ x .5’ = 225 cubic feet.

To convert cubic feet to cubic yards, divide by 27

225 ÷ 27 = 8.33 cubic yards.

8.33 cubic yards

c. 8.0 – 8.5 
d. 5.1 - 5.6





Question #6

Which rooms have tile floors?

a. 1st floor bathroom, 1st floor bathroom closet,

2nd floor bathroom, master bathroom, laundry room

b. Kitchen, 1st floor bathroom

c. 1st floor bathroom, 1st floor bathroom closet

d. 2nd floor bathroom, laundry room

Logic:

1. There is no mention of floor surface finishing on the floor plans.

2. Look at sheet 18,  find the Room Finishing Schedules for the 1st

and 2nd floors.

Answer:

1st floor bathroom, 1st floor bathroom closet, 2nd floor bathroom, 
master bathroom, laundry room

A 16





Question #7

How many smoke detectors are in the building?

a. 2

b. 3

Logic:

Each of three bedrooms on the second floor have one, plus one 
more combo in the hallway outside of the bedrooms.  There is 
one in the living room and one in the basement

Answer: 6

Note:

Smoke detectors are required in bedrooms an in the immediate 
vicinity outside of bedrooms and on all floor levels.
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c. 4

d. 6









Question #8

How many carbon monoxide detectors are in the building?

a. 0

b. 1

Logic:

1. Look at the second floor plan, find the CO/SD detector in the 
hallway. This unit is a combination carbon monoxide and 
smoke detector. 

Answer: 1

Note:

Carbon monoxide detectors are required in the immediate vicinity 
outside of bedrooms for homes with attached garages or fuel 
fired devices.
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c. 3

d. 6





Question #9

What is the required side setbacks for this property?

a. 18 feet

b. 25 feet

c. 33 feet

d. 50 feet

Logic:

1. Look at the site plan, find the side setback dimension

Answer:  25 feet

B 24





Question #10

How close can the rear of the building be to the rear 
property line?

a. 18 feet

b. 25 feet

c. 33 feet

d. 50 feet

Logic:

1. Look at the site plan, find the rear setback dimension

Answer:  50 feet

D 26





Question #11

How many acres is this site?

a. 0.39 – 0.50

b. 0.51 – 0.60

Logic:
1. Look at the site plan, find the site dimensions,

they are 150’ by 300’.   1 acre is 43,560 sqft.

Math: 

150’ x 300’ = 45,000 sqft 45,000 ÷ 43,560 = 1.033 acres

Answer: 1.033 acres

Note:  Remember 1 acre is 43,560 sqft.
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c. 0.61 – 0.80

d. 1.00 – 1.10





Question #12

What is this building floor live load?

a. 10

b. 20

Logic:

1. The information isn’t provided notes sheets.  Look at sheet 18, 
find the structural loading schedule.

Answer: 40 psf (psf is pounds per square foot)

Note: 

It is a good idea to spend some time before starting the exam 
getting familiar with ALL PAGES in the house plan package.
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c. 40

d. 60





Question #13

What type of roof shingles are used on this building?

a. 3 tab fiberglass asphalt composition shingles

b. Dual layer fiberglass mat asphalt, algae resistant 
architectural shingles

c. 30 year algae resistant architectural shingles

d. Cedar shingles

Logic:

1. Look at the front or rear elevations, find the note that calls 
out Dual layer fiberglass mat asphalt, algae resistant 
architectural shingles.  This information is also on sheet 2.

Answer:

Dual layer fiberglass mat asphalt, algae resistant 
architectural shingles.

B 32







Question #14

What is the scale of the Main Floor Plan?

a. 1” = 1’

b. 1’ = 1’

Logic:

1. Look at the main floor plan, find the scale in the lower right part of 
the title block.

Answer:  Scale:  1/8” to 1’

Note:

Always look to the sheet that is mentioned
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c. 1/4” = 1’

d. 1/8” = 1’





Question #15

What is the total rise of the basement stairway?

a. 7’ 0” – 7’ 2”

b. 7’ 8” – 7’ 11”

Logic:

1. Look at sheet 14, find the dimension from the finished 
basement floor to the finished main floor. 

Answer:  8’ 10 1/8”

Note: 

Cross sections are the best place to information on the height of 
things in a buildings.
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c. 8’ 9” – 8’ 11”

d. 9’ 0” - 9’ 2”





Question #16

What is the rise of each individual step in the basement 
stairway?

a. 6 1/4” – 6 1/2”

b. 7” – 7 1/4”

Logic:

1. Look at sheet 14, find the basement stairway

2. Now find individual step rise

Answer:

7 1/8”
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c. 7 5/16” – 7 1/2”

d. 10 1/4” – 10 5/8”





Question #17

What is the tread depth of an individual step in the basement 
stairway?

a. 6 1/4” – 6 1/2”

b. 7” – 7 1/4”

Logic:

1. Look at sheet 14, find the basement stairway

2. Now find individual tread depth

Answer

10 1/2”

D 41





Question #18

How many linear feet of 1” x 8” material is needed to 
complete the risers on the basement stairway?

a. 48 - 50 

b. 59 - 61 

Logic:

1. Look at sheet #14, count the number of rises on the basement 
stairway.

2. Look at the Main Floor Plan, find the width of the stairway

3. The stringers are typically hung on a piece of ¾” OSB that also 
creates the top riser. The rise from the last step to the house 
floor is not counted

Answer:

15 x 4 = 60’
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c. 55 – 57 

d. 63 – 65 







Question #19

What is the size of the front door assembly?

a. 2’8” x  6’8”

b. 2’8” x  5’6”

Logic:

1. Look at the Main Floor Plan, find the front door and its label

Answer:

Door Label:  D12-5468MU 
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c. 3’0” x  6’8”

d. 5’4” x  6’8”

Schedule 
number

Width 
5’ 4”

Height 
6’ 8” 

Description: 
Mulled unit

5’4” wide by 6’8” tall





Question #20

How many board feet is the header above the main front door?

a. 9.5 – 9.7 

b. 19.1 – 19.2

Logic:

1. Look at the Main Floor Plan, find the front door and its label

2. Now look at sheet 17, find the door schedule

3. Next find D12 in the schedule and look in the header column to find 
the size and quantity of header material. It is 2x10x69 (2)

It is 2” x 10” material, 69” long, quantity of 2

Math:

Board Feet = (width x thickness x length) ÷ 144   (all in inches)

(2    x        10      x     69) ÷ 144 = 9.58 bf for one 2x10

2 x 9.58 = 19.17 board feet
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c. 110 – 120 

d. 225 – 235 







Question #21

What is the swing of door D05-3068 in the garage?

a. Sliding

b. Bi-Fold

Logic:

1. Look at the Main Floor Plan, find door D05-3068 in the side of the 
garage.  From the outside the hinges are on the left.  It is a left 
hand swing door.

2. Or look at sheet 17 in the size column for D05, find 3068 L EX.  3068 
is the size, L stands for left swing door, EX stands for exterior

Answer:

Left swing door
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c. Right

d. Left
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Question #22

How many cubic yards of concrete are needed to pour the front 
port slab?

Logic:

1. Look at the Main Floor Plan, find the porch dimensions. The 
dimensions are 20’ 3” (243”) x 6’ (72”)

2. Look at the Main Floor Plan, find the note in the porch area calling 
out a 4” (.33’) thick slab.

Math:  

All units of measurement need to be converted to feet so that all of 
the math is calculated in the same units. 3” ÷ 12 = .25’,   4” ÷ 12 = .33’

Answer:

20.25’ x 6’ x .33’= 40.1 cubic feet  (To convert cubic feet to cubic yards, divide by 27)

40.1 ÷ 27 = 1.49 cubic yards
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c. 2.0 – 2.1

d. 2.2 – 2.3

a. 1.30 – 1.40

b. 1.45 – 1.55





D02-16070

Question #23

What is the size of the garage door?

a. 8’ x 7’

b. 160” x 70”

Logic:

1.Look at the Main Floor Plan, find the garage door and its label 

Note:  Width is always the first dimension with windows and doors.

Answer:        16’ x  7’
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c. 16’ x  7’

d. 160” x 7’

Schedule 
number

Width 
16’ 0”

Height 
7’0”





Question #24

What is the height of the floor joist?

a. 9 1/4”

b. 11 1/4”

c. 11 7/8”

d. 1’ 0 5/8”

Logic:

1. Look at sheet 13, find the note that calls out 11 7/8” I joist 
16” O.C. typical

Answer:  11’ 7/8”
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Question #25

What is the distance from the floor to the top of all 
windows?

a. 60”

b. 65”

c. 80’

d. 80”

Logic:

1. Look at sheet 3, find the specification in the window section 
that calls out top of all windows are to be 80” from floor

Answer:  80”

D 60





Question #26

What is efficiency rating of the air conditioner?

a. 10

b. 11

c. 12

d. 13

Logic:

1. Look at sheet 4, find the specification in the mechanical/HVAC 
section that calls out 13 SEER air conditioner

Answer:  13 SEER

Note: The higher the SEER number, the more efficient the unit
D 62





Question #27

What type of wall insulation is to be installed in the wall 
cavities?

a. R-10 cellulose board

b. R-13 kraft faced fiberglass batts

c. R-20 dense packed dry applied cellulose

d. R-49 loose fill cellulose
Logic:

1. Look at sheet 4, find the specification in the insulation section that 
calls out R20, dense packed dry applied cellulose

Answer: 

R-20 dense packed dry applied cellulose
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Question #28

What is the size of the steel reinforcement in the foundation 
walls?

a. #1

b. #3

c. #4

d. #5

Logic:

1. Look at sheet 15, find the note that calls out the size of the steel 
reinforcement

Answer:  #4

Note:

The English measurement for diameter of reinforcement bar is 
measured in 1/8th of an inch.  Example:  #4 is 4/8 or 1/2”, #5 is 5/8”.
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Question #29

What type of exterior trim is required for finishing around 
windows and doors?

a. 1” x 6” Treated pine

b. 5/4” x 6” Composite wood material 

c. 1” x 6” Cedar

d. 2” x 6” Composite wood material

Logic:

1. Look at sheet 3, find the specification in the exterior trim section 
that calls out the type and style of exterior trim.

Answer:  

Composite wood material 5/4” x 6” (cedar appearance)
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Question #30

What is the height and width of the basement foundation walls 
measured from the footings?

a. 8” x 9’

b. 8” x  16”

c. 8” x  8’

d. 4” x  8’

Logic:

1. Look at sheet 16, find the note that calls out an 8” x 8’ 5000psi 
reinforced concrete wall

Answer:  

8” x  8’
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